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1
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

(i) iz’u Øekad 1 ls 6 rd ds iz’u vfr y?kqmRrjh; iz’u gS ftl ij 2 vadiz’u Øekad 1 ls 6 rd ds iz’u vfr y?kqmRrjh; iz’u gS ftl ij 2 vadiz’u Øekad 1 ls 6 rd ds iz’u vfr y?kqmRrjh; iz’u gS ftl ij 2 vadiz’u Øekad 1 ls 6 rd ds iz’u vfr y?kqmRrjh; iz’u gS ftl ij 2 vad

gSA ¼vf/kdre 'kCn lhek&30 'kCn½gSA ¼vf/kdre 'kCn lhek&30 'kCn½gSA ¼vf/kdre 'kCn lhek&30 'kCn½gSA ¼vf/kdre 'kCn lhek&30 'kCn½
(ii) iz’u Øekad 7 ls 12 rd ds iz’u y?kqmRrjh; iz’u gS ftl ij 3 vad gSAiz’u Øekad 7 ls 12 rd ds iz’u y?kqmRrjh; iz’u gS ftl ij 3 vad gSAiz’u Øekad 7 ls 12 rd ds iz’u y?kqmRrjh; iz’u gS ftl ij 3 vad gSAiz’u Øekad 7 ls 12 rd ds iz’u y?kqmRrjh; iz’u gS ftl ij 3 vad gSA

¼vf/kdre 'kCn lhek&50 'kCn½¼vf/kdre 'kCn lhek&50 'kCn½¼vf/kdre 'kCn lhek&50 'kCn½¼vf/kdre 'kCn lhek&50 'kCn½
(iii) iz’u Øekad 13 ls 17 rd ds iz’u vfr y?kqmRrjh; iz’u gS ftl ij 4 vadiz’u Øekad 13 ls 17 rd ds iz’u vfr y?kqmRrjh; iz’u gS ftl ij 4 vadiz’u Øekad 13 ls 17 rd ds iz’u vfr y?kqmRrjh; iz’u gS ftl ij 4 vadiz’u Øekad 13 ls 17 rd ds iz’u vfr y?kqmRrjh; iz’u gS ftl ij 4 vad

gSA ¼vf/kdre 'kCn lhek&75 'kCn½gSA ¼vf/kdre 'kCn lhek&75 'kCn½gSA ¼vf/kdre 'kCn lhek&75 'kCn½gSA ¼vf/kdre 'kCn lhek&75 'kCn½
(iv) iz’u Øekad 18 ls 22 rd ds iz’u nh?kZmRrjh; iz’u gS ftl ij 5 vad gSAiz’u Øekad 18 ls 22 rd ds iz’u nh?kZmRrjh; iz’u gS ftl ij 5 vad gSAiz’u Øekad 18 ls 22 rd ds iz’u nh?kZmRrjh; iz’u gS ftl ij 5 vad gSAiz’u Øekad 18 ls 22 rd ds iz’u nh?kZmRrjh; iz’u gS ftl ij 5 vad gSA

¼vf/kdre 'kCn lhek&150 'kCn½¼vf/kdre 'kCn lhek&150 'kCn½¼vf/kdre 'kCn lhek&150 'kCn½¼vf/kdre 'kCn lhek&150 'kCn½

Instruction:

(i) Question Nos. 1 to 6 are very short answer type questions. Each question

carries 2 marks. Maximum word linit of answer - 30 words.

(ii) Questions Nos. 7 to 12 are short answer type questions. Each question

carries 3 marks. Maximum word limit of answer - 50 words.

(iii) Question Nos. 13 to 17 are short answer type question. Each question

carries 4 marks. Maximum word limit of answer - 75 words.

(iv) Question Nos. 18 to 22 are long answer type questions. Each question.

Carries 5 marks. Maximum word limit of answer - 150 words.

iz’u 1&iz’u 1&iz’u 1&iz’u 1& /ofu rjaxksa esa /kzqo.k ugha gksrk gSA D;ksa \/ofu rjaxksa esa /kzqo.k ugha gksrk gSA D;ksa \/ofu rjaxksa esa /kzqo.k ugha gksrk gSA D;ksa \/ofu rjaxksa esa /kzqo.k ugha gksrk gSA D;ksa \

Why polarisation is not possible in sound waves ?

iz’u 2&iz’u 2&iz’u 2&iz’u 2& fdlh fcUnq ij fo|qr {ks= dh rhozrk ’kwU; gS] D;k ogk¡ ij fo|qr foHko Hkhfdlh fcUnq ij fo|qr {ks= dh rhozrk ’kwU; gS] D;k ogk¡ ij fo|qr foHko Hkhfdlh fcUnq ij fo|qr {ks= dh rhozrk ’kwU; gS] D;k ogk¡ ij fo|qr foHko Hkhfdlh fcUnq ij fo|qr {ks= dh rhozrk ’kwU; gS] D;k ogk¡ ij fo|qr foHko Hkh
’kwU; gksxk ;fn ugha rks D;ksa ughaA’kwU; gksxk ;fn ugha rks D;ksa ughaA’kwU; gksxk ;fn ugha rks D;ksa ughaA’kwU; gksxk ;fn ugha rks D;ksa ughaA

If at any point, electric field intensity is zero, can we accept electric

potential will also the same. If not so why not.
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iz’u 3&iz’u 3&iz’u 3&iz’u 3& fo|qr jklk;fud rqY;k¡d vkSj jklk;fud rqY;kad esa varj fyf[k,Afo|qr jklk;fud rqY;k¡d vkSj jklk;fud rqY;kad esa varj fyf[k,Afo|qr jklk;fud rqY;k¡d vkSj jklk;fud rqY;kad esa varj fyf[k,Afo|qr jklk;fud rqY;k¡d vkSj jklk;fud rqY;kad esa varj fyf[k,A

Write the difference between electrochemical equivalent and chemical

equivalent.

iz’u 4&iz’u 4&iz’u 4&iz’u 4& ,d pqacd ds mRrjh /kzqo dks /kkrq ds o`Rrkdkj NYys ds utnhd yk;k x;k,d pqacd ds mRrjh /kzqo dks /kkrq ds o`Rrkdkj NYys ds utnhd yk;k x;k,d pqacd ds mRrjh /kzqo dks /kkrq ds o`Rrkdkj NYys ds utnhd yk;k x;k,d pqacd ds mRrjh /kzqo dks /kkrq ds o`Rrkdkj NYys ds utnhd yk;k x;k
mlesa mRiUu izsfjr /kkjk dh fn’kk fdl izdkj gksxh \ mlls lacaf/kr fu;emlesa mRiUu izsfjr /kkjk dh fn’kk fdl izdkj gksxh \ mlls lacaf/kr fu;emlesa mRiUu izsfjr /kkjk dh fn’kk fdl izdkj gksxh \ mlls lacaf/kr fu;emlesa mRiUu izsfjr /kkjk dh fn’kk fdl izdkj gksxh \ mlls lacaf/kr fu;e
fyf[k,Afyf[k,Afyf[k,Afyf[k,A

The north pole of magnet is made to brought near a metallic ring find the

direction of induced current in the ring. Write it’ s concerting law.

iz’u 5&iz’u 5&iz’u 5&iz’u 5& “NAND” gate ls ls ls ls “NOT” gate dSls izkIr djsaxsA mldh lR;rk lkj.khdSls izkIr djsaxsA mldh lR;rk lkj.khdSls izkIr djsaxsA mldh lR;rk lkj.khdSls izkIr djsaxsA mldh lR;rk lkj.kh

fyf[k,Afyf[k,Afyf[k,Afyf[k,A

How “NOT” gate is obtained from “NAND” gate. Write it’s truth table.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& vk;ke ekMqys’ku D;k gS \vk;ke ekMqys’ku D;k gS \vk;ke ekMqys’ku D;k gS \vk;ke ekMqys’ku D;k gS \

What is amplitude modulation ?

iz’u 7&iz’u 7&iz’u 7&iz’u 7& ÅÅÅÅ""""ek mRiknu laca/kh twy dk fu;e fyf[k,Aek mRiknu laca/kh twy dk fu;e fyf[k,Aek mRiknu laca/kh twy dk fu;e fyf[k,Aek mRiknu laca/kh twy dk fu;e fyf[k,A

State Joule’s law of heat production.

vFkok vFkok vFkok vFkok (OR)

Fkkelu izHkko D;k gS \ /kukRed o _.kkRed Fkkelu izHkko crkb,AFkkelu izHkko D;k gS \ /kukRed o _.kkRed Fkkelu izHkko crkb,AFkkelu izHkko D;k gS \ /kukRed o _.kkRed Fkkelu izHkko crkb,AFkkelu izHkko D;k gS \ /kukRed o _.kkRed Fkkelu izHkko crkb,A

What is Thomson’s effect. Explain positive and negative thomson effect.

iz’u 8&iz’u 8&iz’u 8&iz’u 8& ,d pqacdh; rkj dk pqacdh; vk?kw.kZ ,d pqacdh; rkj dk pqacdh; vk?kw.kZ ,d pqacdh; rkj dk pqacdh; vk?kw.kZ ,d pqacdh; rkj dk pqacdh; vk?kw.kZ M gSA mls ,d fljs ls ,d frgkbZ nwjhgSA mls ,d fljs ls ,d frgkbZ nwjhgSA mls ,d fljs ls ,d frgkbZ nwjhgSA mls ,d fljs ls ,d frgkbZ nwjh

ij yacor ij yacor ij yacor ij yacor L vkdkj esa eksM+ fn;k tkrk gSA vc mldk u;k pqacdh; vk?kw.kZvkdkj esa eksM+ fn;k tkrk gSA vc mldk u;k pqacdh; vk?kw.kZvkdkj esa eksM+ fn;k tkrk gSA vc mldk u;k pqacdh; vk?kw.kZvkdkj esa eksM+ fn;k tkrk gSA vc mldk u;k pqacdh; vk?kw.kZ

fdruk gks tk,xkAfdruk gks tk,xkAfdruk gks tk,xkAfdruk gks tk,xkA

Magnetic moment of magnetic wire is M. It is bended from one end at a

distance of one third in L shape find revised magnetic moment.

vFkok vFkok vFkok vFkok (OR)

,d pqacd i`Foh ds pqEcdh; {ks= esa 20 nksyu izfr feuV djrk gSA ;fn {ks=,d pqacd i`Foh ds pqEcdh; {ks= esa 20 nksyu izfr feuV djrk gSA ;fn {ks=,d pqacd i`Foh ds pqEcdh; {ks= esa 20 nksyu izfr feuV djrk gSA ;fn {ks=,d pqacd i`Foh ds pqEcdh; {ks= esa 20 nksyu izfr feuV djrk gSA ;fn {ks=
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dh rhozrk nqxquh dj ns rks nksyudky D;k gksxkAdh rhozrk nqxquh dj ns rks nksyudky D;k gksxkAdh rhozrk nqxquh dj ns rks nksyudky D;k gksxkAdh rhozrk nqxquh dj ns rks nksyudky D;k gksxkA

A magnet in earth’s magnetic field oscillates 20 oscillation per minute. If

intensity becomes double what is effect on time period.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& fdlh o`Rrkdkj dqaMyh ds LoizsdRo dk O;atd fudkydj crkb, ;g fdufdlh o`Rrkdkj dqaMyh ds LoizsdRo dk O;atd fudkydj crkb, ;g fdufdlh o`Rrkdkj dqaMyh ds LoizsdRo dk O;atd fudkydj crkb, ;g fdufdlh o`Rrkdkj dqaMyh ds LoizsdRo dk O;atd fudkydj crkb, ;g fdu
dkjdksa ls izHkkfor gksxkAdkjdksa ls izHkkfor gksxkAdkjdksa ls izHkkfor gksxkAdkjdksa ls izHkkfor gksxkA

Deduce an expression for self inductance of circular coil. On what fac-

tors it will effected.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& NPN VªkaftLVj dk mHk;fuVªkaftLVj dk mHk;fuVªkaftLVj dk mHk;fuVªkaftLVj dk mHk;fu""""B mRltZd fo/kk esa izo/kZd dh rjg mi;ksx gsrqB mRltZd fo/kk esa izo/kZd dh rjg mi;ksx gsrqB mRltZd fo/kk esa izo/kZd dh rjg mi;ksx gsrqB mRltZd fo/kk esa izo/kZd dh rjg mi;ksx gsrq

fo|qr ifjiFk cukdj oksYVst ykHk] /kkjk ykHk dk eku fyf[k,Afo|qr ifjiFk cukdj oksYVst ykHk] /kkjk ykHk dk eku fyf[k,Afo|qr ifjiFk cukdj oksYVst ykHk] /kkjk ykHk dk eku fyf[k,Afo|qr ifjiFk cukdj oksYVst ykHk] /kkjk ykHk dk eku fyf[k,A

Draw electric circuit diagram for CE NPN Transistor as an amplifier

write voltage gain and current gain for it.

iz’u 11&iz’u 11&iz’u 11&iz’u 11& P-N laf/k Mk;ksM D;k gS \ mldk vxz o i’p vfHkufr esa vfHkyk{kf.kd oØlaf/k Mk;ksM D;k gS \ mldk vxz o i’p vfHkufr esa vfHkyk{kf.kd oØlaf/k Mk;ksM D;k gS \ mldk vxz o i’p vfHkufr esa vfHkyk{kf.kd oØlaf/k Mk;ksM D;k gS \ mldk vxz o i’p vfHkufr esa vfHkyk{kf.kd oØ

[khafp,A[khafp,A[khafp,A[khafp,A

What is P-N Junction diode ? Draw characteristic curve in forward and

Reverse Bias.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& lw{e rjax D;k gS \ bUgsa dSls izlkfjr djrs gSa \ budk ,d mi;ksxlw{e rjax D;k gS \ bUgsa dSls izlkfjr djrs gSa \ budk ,d mi;ksxlw{e rjax D;k gS \ bUgsa dSls izlkfjr djrs gSa \ budk ,d mi;ksxlw{e rjax D;k gS \ bUgsa dSls izlkfjr djrs gSa \ budk ,d mi;ksx
fyf[k,Afyf[k,Afyf[k,Afyf[k,A

What are microwaves ? How they are being transmitted. Write its one

use.

iz’u 13&iz’u 13&iz’u 13&iz’u 13& yslj D;k gS \ yslj dk fl)kar fy[kdj yslj D;k gS \ yslj dk fl)kar fy[kdj yslj D;k gS \ yslj dk fl)kar fy[kdj yslj D;k gS \ yslj dk fl)kar fy[kdj He-Ne yslj dh fØ;kfof/kyslj dh fØ;kfof/kyslj dh fØ;kfof/kyslj dh fØ;kfof/k

le>kb,Ale>kb,Ale>kb,Ale>kb,A

What is Laser Write it’s principle. Explain working  of He-Ne Laser.

iz’u14&iz’u14&iz’u14&iz’u14& izdk’k fo|qr izHkko D;k gS \ mlds fu;e fy[kdj crkb, fd nsgyh ÅtkZizdk’k fo|qr izHkko D;k gS \ mlds fu;e fy[kdj crkb, fd nsgyh ÅtkZizdk’k fo|qr izHkko D;k gS \ mlds fu;e fy[kdj crkb, fd nsgyh ÅtkZizdk’k fo|qr izHkko D;k gS \ mlds fu;e fy[kdj crkb, fd nsgyh ÅtkZ
ls uhps izdk’k fo|qr izHkko D;ksa ugha ifjyf{kr gksrk gSAls uhps izdk’k fo|qr izHkko D;ksa ugha ifjyf{kr gksrk gSAls uhps izdk’k fo|qr izHkko D;ksa ugha ifjyf{kr gksrk gSAls uhps izdk’k fo|qr izHkko D;ksa ugha ifjyf{kr gksrk gSA

What is photo electric effect ? Write it’s low explain why photo electric

effect is not seen below threshold energy.

iz’u15&iz’u15&iz’u15&iz’u15& fdjpkQ ds fu;e dk mi;ksx djrs gq, izR;sd Hkkx esa /kkjk Kkr dhft,%fdjpkQ ds fu;e dk mi;ksx djrs gq, izR;sd Hkkx esa /kkjk Kkr dhft,%fdjpkQ ds fu;e dk mi;ksx djrs gq, izR;sd Hkkx esa /kkjk Kkr dhft,%fdjpkQ ds fu;e dk mi;ksx djrs gq, izR;sd Hkkx esa /kkjk Kkr dhft,%
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Using Kirchhoff’s laws, determine the currents I1, I2 and I3 for the net-

work shown below:

vFkok vFkok vFkok vFkok (OR)

,d ysdyka’kh lsy dks foHkoekih ls tksM+us ij vfo{ksi fcUnq 280ls-eh- ij,d ysdyka’kh lsy dks foHkoekih ls tksM+us ij vfo{ksi fcUnq 280ls-eh- ij,d ysdyka’kh lsy dks foHkoekih ls tksM+us ij vfo{ksi fcUnq 280ls-eh- ij,d ysdyka’kh lsy dks foHkoekih ls tksM+us ij vfo{ksi fcUnq 280ls-eh- ij
vkrk gS ;fn Msfu;y lsy dks mlds lkFk Js.khØe esa tksM+k tk; rks vfo{ksivkrk gS ;fn Msfu;y lsy dks mlds lkFk Js.khØe esa tksM+k tk; rks vfo{ksivkrk gS ;fn Msfu;y lsy dks mlds lkFk Js.khØe esa tksM+k tk; rks vfo{ksivkrk gS ;fn Msfu;y lsy dks mlds lkFk Js.khØe esa tksM+k tk; rks vfo{ksi

fcUnq 480 ls-eh- ij vkrk gS rks nksuksa ds fo-ok- cyksa dh rqyuk dhft,fcUnq 480 ls-eh- ij vkrk gS rks nksuksa ds fo-ok- cyksa dh rqyuk dhft,fcUnq 480 ls-eh- ij vkrk gS rks nksuksa ds fo-ok- cyksa dh rqyuk dhft,fcUnq 480 ls-eh- ij vkrk gS rks nksuksa ds fo-ok- cyksa dh rqyuk dhft,AAAA

A leclanche cell gets balanced on the wire of potentiomere at 280cm If a

Daniel cell is joined in series with leclanche cell, then the balance point

is obtained at 480cm. Compare the emf of two cells.

iz’u16&iz’u16&iz’u16&iz’u16& izdk’k ds foorZu ls vki D;k le>rs gksA ,dy fLyV ds fy, izdk’k ds foorZu ls vki D;k le>rs gksA ,dy fLyV ds fy, izdk’k ds foorZu ls vki D;k le>rs gksA ,dy fLyV ds fy, izdk’k ds foorZu ls vki D;k le>rs gksA ,dy fLyV ds fy, n osa f}rh;dosa f}rh;dosa f}rh;dosa f}rh;d

mfPpmfPpmfPpmfPp""""B dh fLFkfr Kkr dhft,AB dh fLFkfr Kkr dhft,AB dh fLFkfr Kkr dhft,AB dh fLFkfr Kkr dhft,A

What do you mean by diffraction of light ? Find the position of nth sec-

ondary maxima by single slit.

vFkok vFkok vFkok vFkok (OR)

izdk’k ds O;frdj.k ls vki D;k le>rs gSaA nks rjaxs ftuds vk;ke yxHkxizdk’k ds O;frdj.k ls vki D;k le>rs gSaA nks rjaxs ftuds vk;ke yxHkxizdk’k ds O;frdj.k ls vki D;k le>rs gSaA nks rjaxs ftuds vk;ke yxHkxizdk’k ds O;frdj.k ls vki D;k le>rs gSaA nks rjaxs ftuds vk;ke yxHkx

leku Øe’k% leku Øe’k% leku Øe’k% leku Øe’k% a1 o  o  o  o a2 gS mudh vko`fRr  gS mudh vko`fRr  gS mudh vko`fRr  gS mudh vko`fRr w gS rks muds v/;kjksi.k ls laiksgS rks muds v/;kjksi.k ls laiksgS rks muds v/;kjksi.k ls laiksgS rks muds v/;kjksi.k ls laiks""""kshkshkshksh
o fouk’kh O;fDrdj.k dh fLFkfr esa rhozrk Kkr dhft,Ao fouk’kh O;fDrdj.k dh fLFkfr esa rhozrk Kkr dhft,Ao fouk’kh O;fDrdj.k dh fLFkfr esa rhozrk Kkr dhft,Ao fouk’kh O;fDrdj.k dh fLFkfr esa rhozrk Kkr dhft,A

What do you mean by Interference of light. Two wave, having

approximately equal amplitude a1 and a2 and frequencyw. Find the

resultant intensity in the case of constructive and destructive interference

by superposition of them.
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iz’u 17&iz’u 17&iz’u 17&iz’u 17& nks ;ks nks ls vf/kd fizTeksa dk la;ksx D;ksa djrs gSA muds la;ksx dhnks ;ks nks ls vf/kd fizTeksa dk la;ksx D;ksa djrs gSA muds la;ksx dhnks ;ks nks ls vf/kd fizTeksa dk la;ksx D;ksa djrs gSA muds la;ksx dhnks ;ks nks ls vf/kd fizTeksa dk la;ksx D;ksa djrs gSA muds la;ksx dh
vo.kZdrk dh 'krZ Kkr dhft,Avo.kZdrk dh 'krZ Kkr dhft,Avo.kZdrk dh 'krZ Kkr dhft,Avo.kZdrk dh 'krZ Kkr dhft,A

Why we combine two or more prism ? Find the condition for achro-

matism.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& irys ysal ls viorZu dk ysal fuekZrk lw= O;qRiUu dj mldh Qksdl nwjhirys ysal ls viorZu dk ysal fuekZrk lw= O;qRiUu dj mldh Qksdl nwjhirys ysal ls viorZu dk ysal fuekZrk lw= O;qRiUu dj mldh Qksdl nwjhirys ysal ls viorZu dk ysal fuekZrk lw= O;qRiUu dj mldh Qksdl nwjh
dks izHkkfor djus okys dkjd fyf[k,Adks izHkkfor djus okys dkjd fyf[k,Adks izHkkfor djus okys dkjd fyf[k,Adks izHkkfor djus okys dkjd fyf[k,A

Deduce Lensmaker’s formula for refraction at thin lens. What are the

factors effecting focal length of lens.

vFkok vFkok vFkok vFkok (OR)

la;qDr lw{en’khZ ls vki D;k le>rs gSa \ fdj.k ekxZ [khapdj mldhla;qDr lw{en’khZ ls vki D;k le>rs gSa \ fdj.k ekxZ [khapdj mldhla;qDr lw{en’khZ ls vki D;k le>rs gSa \ fdj.k ekxZ [khapdj mldhla;qDr lw{en’khZ ls vki D;k le>rs gSa \ fdj.k ekxZ [khapdj mldh
vko/kZu {kerk Kkr dhft, tc vafre izfrfcacvko/kZu {kerk Kkr dhft, tc vafre izfrfcacvko/kZu {kerk Kkr dhft, tc vafre izfrfcacvko/kZu {kerk Kkr dhft, tc vafre izfrfcac

¼1½ lqLi¼1½ lqLi¼1½ lqLi¼1½ lqLi""""V n`fV n`fV n`fV n`f"V dh U;wure nwjh ij gks ¼2½ vuar ij gksA"V dh U;wure nwjh ij gks ¼2½ vuar ij gksA"V dh U;wure nwjh ij gks ¼2½ vuar ij gksA"V dh U;wure nwjh ij gks ¼2½ vuar ij gksA

What do you understand by compound microscope ? By drawing the ray

diagram, obtain its magnifying power when the final image is formed at

(1) least distance of distinct vision. (ii) At infinit

iz’u 19&iz’u 19&iz’u 19&iz’u 19& ,d leku pqacdh; {ks= esa yVds naM pqacd ij fØ;k’khy cy;qXe ds vk?kw.kZ,d leku pqacdh; {ks= esa yVds naM pqacd ij fØ;k’khy cy;qXe ds vk?kw.kZ,d leku pqacdh; {ks= esa yVds naM pqacd ij fØ;k’khy cy;qXe ds vk?kw.kZ,d leku pqacdh; {ks= esa yVds naM pqacd ij fØ;k’khy cy;qXe ds vk?kw.kZ
dh x.kuk dj mlds }kjk pqacd ds pqacdh; vk?kw.kZ dks ifjHkkfdh x.kuk dj mlds }kjk pqacd ds pqacdh; vk?kw.kZ dks ifjHkkfdh x.kuk dj mlds }kjk pqacd ds pqacdh; vk?kw.kZ dks ifjHkkfdh x.kuk dj mlds }kjk pqacd ds pqacdh; vk?kw.kZ dks ifjHkkf""""kr djrs gq,kr djrs gq,kr djrs gq,kr djrs gq,
mldk ek=d o foHkh; lw= fyf[k,Amldk ek=d o foHkh; lw= fyf[k,Amldk ek=d o foHkh; lw= fyf[k,Amldk ek=d o foHkh; lw= fyf[k,A

Deduce an expression for torque on a bar magnet suspended in a uniform

magnetic field with the help of it write unit and dimensional formula.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& fo|qr ¶yDl D;k gS \ xkml izes; dh lgk;rk ls uhps fn, x, fp= esafo|qr ¶yDl D;k gS \ xkml izes; dh lgk;rk ls uhps fn, x, fp= esafo|qr ¶yDl D;k gS \ xkml izes; dh lgk;rk ls uhps fn, x, fp= esafo|qr ¶yDl D;k gS \ xkml izes; dh lgk;rk ls uhps fn, x, fp= esa

nksuksa pkydksa nksuksa pkydksa nksuksa pkydksa nksuksa pkydksa S1 vkSj vkSj vkSj vkSj S2 ls lac) fo|qr ¶yDl dh x.kuk dhft,A ls lac) fo|qr ¶yDl dh x.kuk dhft,A ls lac) fo|qr ¶yDl dh x.kuk dhft,A ls lac) fo|qr ¶yDl dh x.kuk dhft,A

What is electric flux ? Deduce value of electric flux  linked with conductor

S1 &  S2 with the help of gauss theorem (as shown in fig)

          
2q.          S1    S2

         
.4q    

 .9q
.3q
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csyukdkj la/kkfj= dh /kkfjrk dk O;atd Kkr dj mldh /kkfjrk dksc syukdkj la/kkfj= dh /kkfjrk dk O;atd Kkr dj mldh /kkfjrk dksc syukdkj la/kkfj= dh /kkfjrk dk O;atd Kkr dj mldh /kkfjrk dksc syukdkj la/kkfj= dh /kkfjrk dk O;atd Kkr dj mldh /kkfjrk dks

izHkkfor djus okys dkjd fyf[k,AizHkkfor djus okys dkjd fyf[k,AizHkkfor djus okys dkjd fyf[k,AizHkkfor djus okys dkjd fyf[k,A

Deduce an expression for capacity of cylindrical Condensor. What are the

factor’s effecting its capacity.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& dhyfdr dqaMy /kkjkekih dk ukekafdr js[kkfp= [khapdj mldk fl)kardhyfdr dqaMy /kkjkekih dk ukekafdr js[kkfp= [khapdj mldk fl)kardhyfdr dqaMy /kkjkekih dk ukekafdr js[kkfp= [khapdj mldk fl)kardhyfdr dqaMy /kkjkekih dk ukekafdr js[kkfp= [khapdj mldk fl)kar
le>kb,Ale>kb,Ale>kb,Ale>kb,A

Draw labelled diagram of pivoted coil galvanometer. Explain its principle.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& ,d izR;korhZ /kkjk ifjiFk esa ,d izR;korhZ /kkjk ifjiFk esa ,d izR;korhZ /kkjk ifjiFk esa ,d izR;korhZ /kkjk ifjiFk esa L LoiszjdRo o LoiszjdRo o LoiszjdRo o LoiszjdRo o C /kkfjrk dk la/kkfj= Js.kh Øe/kkfjrk dk la/kkfj= Js.kh Øe/kkfjrk dk la/kkfj= Js.kh Øe/kkfjrk dk la/kkfj= Js.kh Øe

esa tksM+us ij fuEufyf[kr dh x.kuk dhft,Aesa tksM+us ij fuEufyf[kr dh x.kuk dhft,Aesa tksM+us ij fuEufyf[kr dh x.kuk dhft,Aesa tksM+us ij fuEufyf[kr dh x.kuk dhft,A
¼1½ ifj.kkeh foHkokarj¼1½ ifj.kkeh foHkokarj¼1½ ifj.kkeh foHkokarj¼1½ ifj.kkeh foHkokarj ¼2½ izfrck/kk¼2½ izfrck/kk¼2½ izfrck/kk¼2½ izfrck/kk
¼3½ vuquknh vko`fRr¼3½ vuquknh vko`fRr¼3½ vuquknh vko`fRr¼3½ vuquknh vko`fRr ¼3½ vkSlr O;; ’kfDr¼3½ vkSlr O;; ’kfDr¼3½ vkSlr O;; ’kfDr¼3½ vkSlr O;; ’kfDr

In alternating current circuit a coil of self inductance L and condensor of

capacity C connected in series calculate the following:

(1) Resultant potential (2) Impedance

(3) Resonant frequency (4) Average power accumulation

vFkok vFkok vFkok vFkok (OR)

eksVj LVkVZj D;k gS \ mldh cukoV] fl)kar dk;Zfof/k fp= cukdjeksVj LVkVZj D;k gS \ mldh cukoV] fl)kar dk;Zfof/k fp= cukdjeksVj LVkVZj D;k gS \ mldh cukoV] fl)kar dk;Zfof/k fp= cukdjeksVj LVkVZj D;k gS \ mldh cukoV] fl)kar dk;Zfof/k fp= cukdj

fyf[k,Afyf[k,Afyf[k,Afyf[k,A

What is motar starter ? Write its construction, principle and working

with labelled diagram.
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